100.0

90.0

80.0

70.0
0100%4 £
@90~99%

60.0 @80~89%
@m70~79%

50.0 B 60~69%
@m50~59%

40.0 W 50% i
N EIRS

30.0

20.0

10.0

0.0

R25 R28 R2.11 R3.2 R3.5 R3.8 R3.11 R4.2

BEZE100% AL DB F2.17- 4 > FET19.0%

HREIZRB0% UL D

(%)
90
80 77.9
723 74.2
70 66.7
63.2

€0 58.8

55.1

50.7
50
40
30
20
10
0
R25 R2.8 R2.11 R3.2 R3.5 R3.8 R3.11 R4.2

BRENZEHB0%AE DL THRA >~ FIETT7.9%

1




2R T 7B
=T 77
A DI
t e e
w LE (EES
#Bho
315 29.8
12.9
20 1 i 103
o N [ N -
2 21.9 o1
9.4 ' -15.8
-40 / _—
0 | | 678 62.7 482 -45.5 -45.6
724 o1a 534
o5 | -78.1 -75.6 —
86.1 B
-100
R2.5 R2.8 R2.11 R3.2 R3.5 R3.8 R3.11 R4.2
ge b (AEpER) (FATHIELE. TARA > b AT AT ORS. 8 (MU FRL)
= =
- S ==}
60
422 37.7
40 : 33.8
30.2
20
g ie 76 127
o | mmm - [ |
22,6
-20 314 68 |10l [
-40 / _—
-63.3 -45.3 -44.5 -44.8
60 [ 739 | -52.8
-78.2 -84.3
80 _A
] 76.0 .
-83.0 oo -81.5 b
-100
R2.5 R2.8 R2.11 R3.2 R3.5 R3.8 R3.11 R4.2
ZiEE TR 4. 28 A > R
Iﬁl LR LY 4
N 52 E B
ELEAY 21.8
20
15
11.3
10 -
5 4.6 4.4 _
= @ m B
0 [
5 / -
0 113 117 2.3 | -
Q / -11.0
-15 L 186 | | 179 136 135
20 e 4__”/ 175
s 209 537 -21.3 223 fETAY
R2.5 R2.8 R2.11 R3.2 R3.5 R3.8 R3.11 R4.2

B IR AR T. 5N A o~ B




BEHRY

20
16.7
BL#of=
9.7 10.2
10 65 6.9 .
= B B
1.7
o | mmm N
5.9
7.6
-10 /
194 /
-20.7
-16.1
-20 ‘A/ 173
50 320 | | a3 25.9 e
|
-33.7 i EieLf=
-40 -36.9
R2.5 R2.8 R2.11 R3.2 R3.5 R3.8 R3.11 R4.2
N 4 SN2 ] N
B I3 aHIER0. 6758 14~ NI
]
) N 2§ 1
mLEL7=
20 s 39.5
S1s 22.8
20 17.5
9.9
5.4 5.1 6'3 - 16.2
0 | ‘
-20 -18.3 -16.7
-41.9
-40 | 476 - 475 -33.6 -33.2
585
-53.0 51.8
-60 53.8
-63.6 ZEieLt=
-80
R2.5 R2.8 R2.11 R3.2 R3.5 R3.8 R3.11 R4.2
AY .Y (o] N
ISP E A k6. 678 14 > R
—
. B
] 33.0 35.9
30
19.0
20 15.9
10.9
i .
0
6.4
-10
~~ / -13.0 -11.9
20 |-14.6 - S -16.1
\/ -18.9
-30 245 -25.4
-30.5 T
-40 -35.4 -_J_§J
R2.5 R2.8 R2.11 R3.2 R3.5 R3.8 R3.11 R4.2

JEFIR U RTER6. 68 A4~ M




SJU [ 4L >
FEHY REE
29.3 . ; 27.7
234 223 24.2
20
0 :
-14.2 -13.8
20 | 229 | | 1| 1 A 5.1 \ B
-33.4 -28.9 L~
-33.4 A ____—/ -19.2
Y
-40 -
-40.1
-45.8 -46.0 -46.9
i -52.2 -53.1
60 56.8 55.7
FELZL
-80
R2.5 R2.8 R2.11 R3.2 R3.5 R3.8 R3.11 R4.2
RE B IR 14, IR A > M
A Y
. 34k DEERBL
__iéé 29.6 29.2 28.0
Ll 21.7 20.4 22.0 23.6
) . .
6.8 3.5
2.3
o N -
-20.0 -20.8 -1.6
-20 273 ] | -
-26.1 -26.9 -29.6
-40 353
/ -40.4 42.8 ’
-49.0
-60 -69.4 i
-80 762
PR
-100
R2.5 R2.8 R2.11 R3.2 R3.5 R3.8 R3.11 R4.2
3 Ao ApE Aol UITai#ies. 984 > b
-
) 65 BEDEERBL
30.7
26.2 25.0 24.5
., |
-16.6 -17.8
-20.9 .
=20 i 2.8 |
] -25.1 i
0 / 5 26.6 26.2
-58.8 71 -41.6 -42.3
-60
- PR
80 70.5
R2.5 R2.8 R2.11 R3.2 R3.5 R3.8 R3.11 R4.2

6 HYeDEPE R UITRTH EES. T8 A > R IR




